Problem 4.11

4.11. Derive the linearized equation of motion for the 2 DOF system shown in Figure P4.11. Find the natural
frequencies and eigenvectors. my = 30 kg, my = 2kg, k; = 15N/m,/ =2 m.

You could copy the equations
of motion from the notes, but
I'll run through it again here
for completeness.

ky

I'll use Lagrange's Method.

Figure P4.11
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Problem 4.14

4.14. Determine the eigenvectors and natural frequencies for the system illustrated in Figure P4.14. The bar is

uniform. Discuss the physical meaning of the responses. m; = 100 kg, m = 1500 kg, k; = 10, 000
N/m, k; = 12, 000 N/m, k3 = 70, 000 N/m, [ = 4 m.
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Problem 4.14 (cont.)
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